Practice 4.1-4.2

Name:

1. Write a polynomial function in standard form with roots: 2 — 3,1, and -1. The lead
coefficient is -2. Sketch the graph, including the y-intercept. L 2430 is also a roof
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2. Write the equation for the graph below. Assume the lead coefficient is 3 and identify the
coordinate of the y-intercept.
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3. What is the degree of the function?
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4. Determine the degree of the function given the sequence

i, 7, 23, 55, 109, 191, 307, 463
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5. Write an equation in factored form for the graph below. @ #1
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6. Write an equation in factored form of a polynomial function with complex roots at 4; and

—3i a triple root at 2, a double root at -2, and single roots at -10 and -1. The lead
_ coefficientis a = —1.

and B
S (-4 ) (x#90) (x+30) (x -3¢ (x—g)g (x ¢ 2)*(x+10)(x+1)

7. Find the remaining roots of the function h(z) = z* + 5z — 4z # 20 given that
z = —5 is a root.
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8. Is the following function even, odd, or neither? flz) = —2° +2
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Cey=-(-+2 =3
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. Finish the graph if it is an odd function.

Finish the graph if it is an even function.
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